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Example Solution

1. Write the solution set of the equation  in roster form.

Watch Video Solution

x2 + x − 2 = 0

2. Write the set {x : x is a positive integer and } in the roster form.

Watch Video Solution

x2 < 40

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_e0IAjdpX5ppv
https://dl.doubtnut.com/l/_WRm8SWGTwl4g


3. Write the set A = {1, 4, 9, 16, 25, . . . }in set-builder form.

Watch Video Solution

4. Write the set  in the set-builder form.

Watch Video Solution
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5. Match each of the set on the left described in the roster form with the

same set on the right described in the set-builder form : 

(i) {P, R, I, N, C, A, L} (a) { x : x is a positive integer and is a divisor of 18} 

(ii) { 0 } (b) { x : x is an integer and } 


(iii) {1, 2, 3, 6, 9, 18} (c) {x : x is an integer and } 


(iv)  (d) {x : x is a letter of the word PRINCIPAL}

Watch Video Solution

x2– 9 = 0

x + 1 = 1

{3, – 3}

https://dl.doubtnut.com/l/_jVm9oUu0cEbP
https://dl.doubtnut.com/l/_exED4icfaIjg
https://dl.doubtnut.com/l/_qZer6590QQLD


6. State which of the following sets are finite or infinite : 

{ }

Watch Video Solution

x : x ∈ N and 2x– 1 = 0

7. Find the pairs of equal sets, if any, give reasons: 

, 


, 


E = {x : x is an integral positive root of the equation }.

Watch Video Solution

A = {0}, B = {x : x > 15 and x < 5}

C = {x : x– 5 = 0}, D = {x : x2 = 25}

x2– 2x– 15 = 0

8. Which of the following pairs of sets are equal? Justify your answer. 

(i) X, the set of letters in “ALLOY” and B, the set of letters in “LOYAL”. 

Watch Video Solution

https://dl.doubtnut.com/l/_N1tgvkNhqdFI
https://dl.doubtnut.com/l/_3HJsKvgv7Zq7
https://dl.doubtnut.com/l/_VJMuJoNPfTq1


9. Consider the sets 

. 


Insert the symbol ⊂ or ⊄ between each of the following pair of sets: 

(i)  (ii)  (iii)  (iv) 

Watch Video Solution

φ, A = {1, 3}, B = {1, 5, 9}, C = {1, 3, 5, 7, 9}

φ. . . B A. . . B A. . . C B. . . C

10. Let . Is A a subset of B ? No.

(Why?). Is B a subset of A? No. (Why?)

Watch Video Solution

A = {a, e, i, o, u} and B = {a, b, c, d}

11. Let A, B and C be three sets. If , is it true that 

?. If not, give an example.

Watch Video Solution

A ∈ B and B ⊂ C

A ⊂ C

https://dl.doubtnut.com/l/_SSF4cgwAybmj
https://dl.doubtnut.com/l/_5hgH9zBs5cbh
https://dl.doubtnut.com/l/_FevZzc5xGYF6


12. Let . Find .

Watch Video Solution

A = {2, 4, 6, 8} and B = {6, 8, 10, 12} A ∪ B

13. Let . Show that 

Watch Video Solution

A = {a, e, i, o, u} and B = {a, i, u} A ∪ B = A

14. Let X = {Ram, Geeta, Akbar} be the set of students of Class XI, who are

in school hockey team. Let Y = {Geeta, David, Ashok} be the set of students

from Class XI who are in the school football team. Find  and

interpret the set.

Watch Video Solution

X ∪ Y

15. Let . Find 

and hence show that .

A = {1, 2, 3, 4, 5, 6, 7, 8, 9, 10} and B = {2, 3, 5, 7} A ∩ B

A ∩ B = B

https://dl.doubtnut.com/l/_nqFxZNttebdP
https://dl.doubtnut.com/l/_l4BDEOwuA2w3
https://dl.doubtnut.com/l/_SBTCxGiO4EVf
https://dl.doubtnut.com/l/_hPXEiVGUdEKF


Watch Video Solution

16. Let . Find .

Watch Video Solution

A = {1, 2, 3, 4, 5, 6}, B = {2, 4, 6, 8} A– B and B– A

17. Let . Find 

Watch Video Solution

V = {a, e, i, o, u} and B = {a, i, k, u} V – B and B– V

18. Let . Find A′.

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9, 10} and A = {1, 3, 5, 7, 9}

19. Let U be universal set of all the students of Class XI of a coeducational

school and A be the set of all girls in Class XI. Find A′.

Watch Video Solution

https://dl.doubtnut.com/l/_hPXEiVGUdEKF
https://dl.doubtnut.com/l/_UeUwijiX8SAr
https://dl.doubtnut.com/l/_eVo0GbBxvMye
https://dl.doubtnut.com/l/_b1Gpk0LCYQVI
https://dl.doubtnut.com/l/_FLyw8dIEBHF3


20. Let . 


Find  and hence show that 

.

Watch Video Solution

U = {1, 2, 3, 4, 5, 6}, A = {2, 3} and B = {3, 4, 5}

A' , B' , A' ∩ B' , A ∪ B

(A ∪ B)' = A' ∩ B'

21. If X and Y are two sets such that  has 50 elements, X has 28

elements and Y has 32 elements, how many elements does  have ?

Watch Video Solution

X ∪ Y

X ∩ Y

22. In a school there are 20 teachers who teach mathematics or physics.

Of these, 12 teach mathematics and 4 teach both physics and

mathematics. How many teach physics ?

Watch Video Solution

https://dl.doubtnut.com/l/_FLyw8dIEBHF3
https://dl.doubtnut.com/l/_k91EYj17YOPo
https://dl.doubtnut.com/l/_PsbKU3aWW8tP
https://dl.doubtnut.com/l/_LtD610cFw9fx


23. In a class of 35 students, 24 like to play cricket and 16 like to play

football. Also, each student likes to play at least one of the two games.

How many students like to play both cricket and football ?

Watch Video Solution

24. In a survey of 400 students in a school, 100 were listed as taking apple

juice, 150 as taking orange juice and 75 were listed as taking both apple

as well as orange juice. Find how many students were taking neither

apple juice nor orange juice.

Watch Video Solution

25. There are 200 individuals with a skin disorder, 120 had been exposed

to the chemical  to chemical , and 30 to both the chemicals 

. Find the number of individuals exposed to 


(i) Chemical  but not chemical  


Watch Video Solution

C1, 50 C2

C1 and C2

C1 C2

https://dl.doubtnut.com/l/_bO3lKvTxFyDL
https://dl.doubtnut.com/l/_4geVT7ew3SVj
https://dl.doubtnut.com/l/_LSCWbBO0dzRW


Watch Video Solution

26. Show that the set of letters needed to spell “ CATARACT ” and the set

of letters needed to spell “ TRACT” are equal.

Watch Video Solution

27. List all the subsets of the set .

Watch Video Solution

{– 1, 0, 1}

28. Show that  implies 

Watch Video Solution

A ∪ B = A ∩ B A = B

29. For any sets A and B, show that 

.

Watch Video Solution

P (A ∩ B) = P (A) ∩ P (B)

https://dl.doubtnut.com/l/_LSCWbBO0dzRW
https://dl.doubtnut.com/l/_4u6Srg1w2RVi
https://dl.doubtnut.com/l/_t3zRu4kXKIKf
https://dl.doubtnut.com/l/_Jgvqde374ald
https://dl.doubtnut.com/l/_qUZJG1aN2zuE


Exercise 1 1

30. A market research group conducted a survey of 1000 consumers and

reported that 720 consumers like product A and 450 consumers like

product B, what is the least number that must have liked both products?

Watch Video Solution

31. Out of 500 car owners investigated, 400 owned car A and 200 owned

car B, 50 owned both A and B cars. Is this data correct?

Watch Video Solution

1. Which of the following are sets? Justify your answer. 

The collection of all months of a year beginning with the letter ''J"

Watch Video Solution

https://dl.doubtnut.com/l/_qUZJG1aN2zuE
https://dl.doubtnut.com/l/_OuAaiEFHdt3D
https://dl.doubtnut.com/l/_2PhZkwSgMdXC
https://dl.doubtnut.com/l/_HgRTcL4N7MKg


2. Which of the following are sets ? Justify your answer. 

The collection of ten most talented writers of India.

Watch Video Solution

3. Which of the following are sets ? Justify your answer. 

A team of eleven best-cricket batsmen of the world.

Watch Video Solution

4. Which of the following are sets? Justify your answer. 

The collection of all boys in your class.

Watch Video Solution

5. Which of the following are sets ? Justify your answer. 

The collection of all natural numbers less than 100.

https://dl.doubtnut.com/l/_HgRTcL4N7MKg
https://dl.doubtnut.com/l/_yezSwK1EC6j1
https://dl.doubtnut.com/l/_MbkCcHvnkhAl
https://dl.doubtnut.com/l/_dd71lphAFTTl
https://dl.doubtnut.com/l/_DlogiIKl8CiZ


Watch Video Solution

6. Which of the following are sets ? Justify your answer. 

A collection of novels written by the writer Munshi Prem Chand.

Watch Video Solution

7. Which of the following are sets? Justify your answer. 

The collection of all even integers.

Watch Video Solution

8. Which of the following are sets ? Justify your answer. 

The collection of questions in this Chapter.

Watch Video Solution

https://dl.doubtnut.com/l/_DlogiIKl8CiZ
https://dl.doubtnut.com/l/_9zdHBusZKO3s
https://dl.doubtnut.com/l/_IsaPq1dxN1xm
https://dl.doubtnut.com/l/_bW2eJz6sSrwV


9. Which of the following are sets ? Justify your answer. 

A collection of most dangerous animals of the world.

Watch Video Solution

10. Let . Insert the appropriate symbol  in

the blank spaces: 

Watch Video Solution

A = {1, 2, 3, 4, 5, 6} ∈ or ∉

5. . . A

11. Let . Insert the appropriate symbol  in

the blank spaces: 

Watch Video Solution

A = {1, 2, 3, 4, 5, 6} ∈ or ∉

8. . . A

https://dl.doubtnut.com/l/_JktcFRESL43X
https://dl.doubtnut.com/l/_0NijGjsqQVXs
https://dl.doubtnut.com/l/_w0AtxCXMnFeu


12. Let . Insert the appropriate symbol  in

the blank spaces: 

Watch Video Solution

A = {1, 2, 3, 4, 5, 6} ∈ or ∉

0. . . A

13. Let . Insert the appropriate symbol  in

the blank spaces: 

Watch Video Solution

A = {1, 2, 3, 4, 5, 6} ∈ or ∉

4. . . A

14. Let . Insert the appropriate symbol  in

the blank spaces: 

Watch Video Solution

A = {1, 2, 3, 4, 5, 6} ∈ or ∉

2. . . A

https://dl.doubtnut.com/l/_ZIIrRNjD6YN6
https://dl.doubtnut.com/l/_zx4Zn27VeUYi
https://dl.doubtnut.com/l/_EB0oqqoMs1Ln
https://dl.doubtnut.com/l/_8VRpOHN9dZob


15. Let . Insert the appropriate symbol  in

the blank spaces: 

Watch Video Solution

A = {1, 2, 3, 4, 5, 6} ∈ or ∉

10. . . A

16. Write the following sets in roster form: 

A = {x : x is an integer and }

Watch Video Solution

– 3 ≤ x < 7

17. Write the following sets is roster form. 

B={x:x is a natural number smaller than 6}.

Watch Video Solution

18. Write the following sets is roster form. 

C={x:x is a two-digit natural number such that the sum of its digits is 8}.

https://dl.doubtnut.com/l/_8VRpOHN9dZob
https://dl.doubtnut.com/l/_9ww8sWVM2LC8
https://dl.doubtnut.com/l/_NcHUL0hOklZW
https://dl.doubtnut.com/l/_Wy3GDVWYjWmK


Watch Video Solution

19. Write the following sets in roster form: 

D = {x : x is a prime number which is divisor of 60}

Watch Video Solution

20. Write the following sets in roster form: 

E = The set of all letters in the word TRIGONOMETRY

Watch Video Solution

21. Write the following sets is roster form. 

E={x:x is an alphabet in BETTER}.

Watch Video Solution

https://dl.doubtnut.com/l/_Wy3GDVWYjWmK
https://dl.doubtnut.com/l/_J7Ur9R7jYXXi
https://dl.doubtnut.com/l/_QMyOWzHddlod
https://dl.doubtnut.com/l/_7LShWGV6PNN6


22. Write the following sets in the set-builder form. 

{3,6,9,12}

Watch Video Solution

23. Write the following sets in the set-builder form. 

{2,4,8,16,32}

Watch Video Solution

24. Write the following sets in the set-builder form. 

{5,25,125,625}

Watch Video Solution

25. Write the following sets in the set-builder form : 

{2, 4, 6, . . . }

https://dl.doubtnut.com/l/_ZTZBlhY1EsPS
https://dl.doubtnut.com/l/_slcJnxGQRjN8
https://dl.doubtnut.com/l/_C09fqlCLbhmv
https://dl.doubtnut.com/l/_eXNbfNvVG9qA


Watch Video Solution

26. Write the following sets in the set-builder form : 

Watch Video Solution

{1, 4, 9, . . . , 100}

27. List all the elements of the following sets : 

A = {x : x is an odd natural number}

Watch Video Solution

28. List all the elements of the following sets : 

B = {x : x is an integer, }

Watch Video Solution

− < x <
1

2

9

2

https://dl.doubtnut.com/l/_eXNbfNvVG9qA
https://dl.doubtnut.com/l/_sI1W959iNb5d
https://dl.doubtnut.com/l/_K5Vady58RAc2
https://dl.doubtnut.com/l/_ASsV3AjQ3KO6


29. List all the elements of the following sets : 

C = {x : x is an integer, }

Watch Video Solution

x2 ≤ 4

30. Write the following sets in roster-form. 

D={x:x is a letter in the word "LOYAL"}

Watch Video Solution

31. List all the elements of the following sets : 

E = {x : x is a month of a year not having 31 days}

Watch Video Solution

32. List all the elements of the following sets : 

F = {x : x is a consonant in the English alphabet which precedes k }.

https://dl.doubtnut.com/l/_zgP5KQtDHBmf
https://dl.doubtnut.com/l/_3FQcmY6WXhx4
https://dl.doubtnut.com/l/_CdEezuL5xiyM
https://dl.doubtnut.com/l/_l5aZb4iCu4nK


Exercise 1 2

Watch Video Solution

33. Match the roster form with set builder form. 

Watch Video Solution

1. State which of the following sets are empty and which are not? 

Set of odd natural numbers divisible by 2.

Watch Video Solution

2. State which of the following sets are empty and which are not? 

Set of even prime numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_l5aZb4iCu4nK
https://dl.doubtnut.com/l/_UgPSfxvlyS9b
https://dl.doubtnut.com/l/_GwBcl5uu2fj5
https://dl.doubtnut.com/l/_p8TLeySnPaW0


3. State which of the following sets are empty and which are not? 

{x:x is a natural number, x 5 and x 7}

Watch Video Solution

< >

4. State which of the following sets are empty and which are not? 

{x:x is a common point to any two parallel lines}

Watch Video Solution

5. Which of the following sets are finite or infinite? 

The set of month in a year.

Watch Video Solution

https://dl.doubtnut.com/l/_p8TLeySnPaW0
https://dl.doubtnut.com/l/_jEM8qfyz2rtQ
https://dl.doubtnut.com/l/_8VnOyvcMFUur
https://dl.doubtnut.com/l/_Qg8DkSPRzP18


6. Which of the following sets are finite or infinite 

Watch Video Solution

{1, 2, 3, . . . }

7. Which of the following sets are finite or infinite? 

{1,2,3,……,99,100}

Watch Video Solution

8. Which of the following sets are finite or infinite 

The set of positive integers greater than 100

Watch Video Solution

9. Which of the following sets are finite or infinite? 

The set of prime numbers smaller than 99.

https://dl.doubtnut.com/l/_fn7F2aXXgqfF
https://dl.doubtnut.com/l/_Xqflt6mZlstX
https://dl.doubtnut.com/l/_0Y8eInGyrsvc
https://dl.doubtnut.com/l/_y0hM0uWk3q27


Watch Video Solution

10. State whether each of the following sets is finite or infinite. 

The set of lines which are parallel to the X-axis.

Watch Video Solution

11. State whether each of the following sets is finite or infinite. 

The set of letters in the English alphabet.

Watch Video Solution

12. State whether each of the following sets is finite or infinite. 

The set of numbers which are multiple of 5.

Watch Video Solution

https://dl.doubtnut.com/l/_y0hM0uWk3q27
https://dl.doubtnut.com/l/_4l2qL5FEN8oW
https://dl.doubtnut.com/l/_BAUCW2JXeIc4
https://dl.doubtnut.com/l/_Z10zmMNZIx30


13. State whether each of the following set is finite or infinite: 

The set of animals living on the earth

Watch Video Solution

14. State whether each of the following sets is finite or infinite. 

The set of circles passing through the origin (0,0).

Watch Video Solution

15. In each of the following .state whether A=B or not. 

A={a,b,c,d}, B={d,c,a,b}

Watch Video Solution

16. In the following, state whether A = B or not: 

A = {4, 8, 12, 16}B = {8, 4, 16, 18}

https://dl.doubtnut.com/l/_RkXUAozmHBEH
https://dl.doubtnut.com/l/_G6Ati6x5r7Hz
https://dl.doubtnut.com/l/_kyGyTBkvLE8A
https://dl.doubtnut.com/l/_iY5ImyWkRQy4


Watch Video Solution

17. In the following, state whether A = B or not: 

 B = { x : x is positive even integer and }

Watch Video Solution

A = {2, 4, 6, 8, 10} x ≤ 10

18. In each of the following .state whether A=B or not. 

A={x:x is a multiple of 10} 

B={10,15,20,25,30…….}

Watch Video Solution

19. Are the following pair of sets equal ? Give reasons. 

, B = {x : x is solution of }

Watch Video Solution

A = {2, 3} x2 + 5x + 6 = 0

https://dl.doubtnut.com/l/_iY5ImyWkRQy4
https://dl.doubtnut.com/l/_ZkV1kkyGpoVt
https://dl.doubtnut.com/l/_QFmxUkPiNnpK
https://dl.doubtnut.com/l/_GjtHN0GXDzXX
https://dl.doubtnut.com/l/_nGp05MaCBtrn


Exercise 1 3

20. Are the following pair of sets equal ? Give reasons. 

A = { x : x is a letter in the word FOLLOW} 

B = { y : y is a letter in the word WOLF}

Watch Video Solution

21. From the sets given below, select equal sets : 

 


Watch Video Solution

A = {2, 4, 8, 12}, B = {1, 2, 3, 4}, C = {4, 8, 12, 14}, D = {3, 1, 4, 2}

E = {– 1, 1}, F = {0, a}, G = {1, – 1}, H = {0, 1}

1. Make correct statements by filling in the symbols  in the

blank spaces : 

Watch Video Solution

⊂ or ⊄

{2, 3, 4}. . . {1, 2, 3, 4, 5}

https://dl.doubtnut.com/l/_nGp05MaCBtrn
https://dl.doubtnut.com/l/_aSDr3Qx2xwP7
https://dl.doubtnut.com/l/_Fo4SSmiR4ZUU


2. Make correct statements by filling in the symbols  in the

blank spaces : 

Watch Video Solution

⊂ or ⊄

{a, b, c}. . . {b, c, d}

3. Make correct statements by filling in the symbols  in the

blank spaces : 

{  is a student of Class XI of your school}. . .{  student of your

school}

Watch Video Solution

⊂ or ⊄

x : x x : x

4. Make correct statements by filling in the symbols  in the

blank spaces : 

{  is a circle in the plane} . . .{  is a circle in the same plane with

radius 1 unit}

⊂ or ⊄

x : x x : x

https://dl.doubtnut.com/l/_Fo4SSmiR4ZUU
https://dl.doubtnut.com/l/_cEf6VuDihxJu
https://dl.doubtnut.com/l/_AskN5ijZWsWd
https://dl.doubtnut.com/l/_7uIk1tVuZyMI


View Text Solution

5. Make correct statements by filling in the symbols  in the

blank spaces : 

{  is a triangle in a plane} . . . {  is a rectangle in the plane}

View Text Solution

⊂ or ⊄

x : x x : x

6. Make correct statements by filling in the symbols  in the

blank spaces : 

{  is an equilateral triangle in a plane} . . . {  is a triangle in the

same plane}

View Text Solution

⊂ or ⊄

x : x x : x

7. Make correct statements by filling in the symbols  in the

blank spaces : 

{  is an even natural number} . . . {  is an integer}

⊂ or ⊄

x : x x : x

https://dl.doubtnut.com/l/_7uIk1tVuZyMI
https://dl.doubtnut.com/l/_zORGpmcjAYNg
https://dl.doubtnut.com/l/_OfSX91poefNX
https://dl.doubtnut.com/l/_5kbgMehmvIpA


Watch Video Solution

8. Examine whether the following statements are true or false: 

Watch Video Solution

{a, b} ⊄ {b, c, a}

9. Examine whether the following statements are true or false: 

 {  is a vowel in the English alphabet}

Watch Video Solution

{a, e} ⊂ x : x

10. Examine whether the following statements are true or false: 

Watch Video Solution

{1, 2, 3} ⊂ {1, 3, 5}

https://dl.doubtnut.com/l/_5kbgMehmvIpA
https://dl.doubtnut.com/l/_KIXhcmcetu1f
https://dl.doubtnut.com/l/_gLAPFNLm7r4U
https://dl.doubtnut.com/l/_lS3ZwiPC1P8w


11. Examine whether the following statements are true or false: 

Watch Video Solution

{a} ⊂ {a, b, c}

12. Examine whether the following statements are true or false: 

Watch Video Solution

{a} ∈ {a, b, c}

13. Examine whether the following statements are true or false: 

{  is an even natural number less than 6}  {  is a natural

number which divides 36}

Watch Video Solution

x : x ⊂ x : x

https://dl.doubtnut.com/l/_37HdMyKmVt2t
https://dl.doubtnut.com/l/_Q56PaO6NBNhv
https://dl.doubtnut.com/l/_8GcFQu4L0DFg


14. Let . Which of the following statements are

incorrect and why? 

Watch Video Solution

A = {1, 2, {3, 4}, 5}

{3, 4} ⊂ A

15. Let . Which of the following statements are

incorrect and why? 

Watch Video Solution

A = {1, 2, {3, 4}, 5}

{{3, 4}} ⊂ A

16. Let . Which of the following statements are

incorrect and why? 

Watch Video Solution

A = {1, 2, {3, 4}, 5}

1 ∈ A

https://dl.doubtnut.com/l/_IU5sT9QTRuEf
https://dl.doubtnut.com/l/_z1TBuxafjSI1
https://dl.doubtnut.com/l/_WZQb6vXv52Gc
https://dl.doubtnut.com/l/_pr0Y0rGnCaTd


17. Let . Which of the following statements are

incorrect and why? 

Watch Video Solution

A = {1, 2, {3, 4}, 5}

1 ⊂ A

18. Let . Which of the following statements are

incorrect and why? 

Watch Video Solution

A = {1, 2, {3, 4}, 5}

{1, 2, 5} ⊂ A

19. Let . Which of the following statements are

incorrect and why? 

Watch Video Solution

A = {1, 2, {3, 4}, 5}

{1, 2, 5} ∈ A

https://dl.doubtnut.com/l/_pr0Y0rGnCaTd
https://dl.doubtnut.com/l/_jmZMgfhUJAVu
https://dl.doubtnut.com/l/_JpdJLlCj6OLT


20. Let . Which of the following statements are

incorrect and why? 

Watch Video Solution

A = {1, 2, {3, 4}, 5}

{1, 2, 3} ⊂ A

21. Let . Which of the following statements are

incorrect and why? 

Watch Video Solution

A = {1, 2, {3, 4}, 5}

{φ} ⊂ A

22. Let . Which of the following statements are

incorrect and why? 

Watch Video Solution

A = {1, 2, {3, 4}, 5}

{φ} ⊂ A

https://dl.doubtnut.com/l/_ReHWDfVMESNU
https://dl.doubtnut.com/l/_uzynwAkmla2x
https://dl.doubtnut.com/l/_yanoomhFJFAl
https://dl.doubtnut.com/l/_GEferSazbOht


23. Let . Which of the following statements are

incorrect and why? 

Watch Video Solution

A = {1, 2, {3, 4}, 5}

{φ} ⊂ A

24. Write down all the subsets of the following sets 

Watch Video Solution

{a}

25. Write down all the subsets of the following sets 

Watch Video Solution

{a, b}

26. Write down all the subsets of the following sets 

{1, 2, 3}

https://dl.doubtnut.com/l/_GEferSazbOht
https://dl.doubtnut.com/l/_vQIPv50XrNsP
https://dl.doubtnut.com/l/_DkSdMobMRRFT
https://dl.doubtnut.com/l/_J8BVtNU7ba0E


Watch Video Solution

27. Write down all the subsets of the following sets 

Watch Video Solution

ϕ

28. How many elements has P(A), if ?

Watch Video Solution

A = φ

29. Write the following as intervals : 

Watch Video Solution

{x : x ∈ R, – 4 < x ≤ 6}

https://dl.doubtnut.com/l/_J8BVtNU7ba0E
https://dl.doubtnut.com/l/_f0UKr87Xyo3e
https://dl.doubtnut.com/l/_JZQ5IJmnGiSZ
https://dl.doubtnut.com/l/_zHsalFyAkVxf


30. Write the following as intervals : 

Watch Video Solution

{x : x ∈ R, – 12 < x < – 10}

31. Write the following as intervals : 

Watch Video Solution

{x : x ∈ R, 0 ≤ x < 7}

32. Write the following as intervals : 

Watch Video Solution

{x : x ∈ R, 3 ≤ x ≤ 4}

33. Write the following intervals in set-builder form : 

(– 3, 0)

https://dl.doubtnut.com/l/_M9HSx76I0qhg
https://dl.doubtnut.com/l/_DNqWcHaRBPC4
https://dl.doubtnut.com/l/_0Ffcb4hDFRWM
https://dl.doubtnut.com/l/_yVZWb6RyLGZz


Watch Video Solution

34. Write the following intervals in set-builder form : 

Watch Video Solution

[6, 12]

35. Write the following intervals in set-builder form : 

Watch Video Solution

(6, 12]

36. Write the following intervals in set-builder form : 

Watch Video Solution

[– 23, 5)

https://dl.doubtnut.com/l/_yVZWb6RyLGZz
https://dl.doubtnut.com/l/_jBARiyBY7fYd
https://dl.doubtnut.com/l/_LBxtqqUElRba
https://dl.doubtnut.com/l/_iOhxbIP8Ufio


37. What universal set(s) would you propose for each of the following : 

The set of right triangles.

Watch Video Solution

38. What universal set(s) would you propose for each of the following : 

The set of isosceles triangles.

Watch Video Solution

39. Given the sets ,

which of the following may be considered as universal set (s) for all the

three sets A, B and C

Watch Video Solution

A = {1, 3, 5}, B = {2, 4, 6} and C = {0, 2, 4, 6, 8}

{0, 1, 2, 3, 4, 5, 6}

https://dl.doubtnut.com/l/_OHTJC1qP6JZP
https://dl.doubtnut.com/l/_DCG0SYhEeK4R
https://dl.doubtnut.com/l/_VDUGMxFutRIn


40. Given the sets ,

which of the following may be considered as universal set (s) for all the

three sets A, B and C

Watch Video Solution

A = {1, 3, 5}, B = {2, 4, 6} and C = {0, 2, 4, 6, 8}

{1, 2, 3, 4, 5, 6, 7, 8}

41. Given the sets ,

which of the following may be considered as universal set (s) for all the

three sets A, B and 

Watch Video Solution

A = {1, 3, 5}, B = {2, 4, 6} and C = {0, 2, 4, 6, 8}

{0, 1, 2, 3, 4, 5, 6, 7, 8, 9, 10}

42. Given the sets ,

which of the following may be considered as universal set (s) for all the

three sets A, B and C

A = {1, 3, 5}, B = {2, 4, 6} and C = {0, 2, 4, 6, 8}

{1, 2, 3, 4, 5, 6, 7, 8}

https://dl.doubtnut.com/l/_tdzMIK7VCzrc
https://dl.doubtnut.com/l/_VBtPq3G0x72h
https://dl.doubtnut.com/l/_UdTZRcxNtI9e


Exercise 1 4

Watch Video Solution

1. Find the union of each of the following pairs of sets : 

Watch Video Solution

X = {1, 3, 5}Y = {1, 2, 3}

2. Find the union of each of the following pairs of sets : 

Watch Video Solution

A = [a, e, i, o, u}B = {a, b, c}

3. Find the union of each of the following pairs of sets : 

A = {  is a natural number and multiple of 3} 


B = {  is a natural number less than 6}

x : x

x : x

https://dl.doubtnut.com/l/_UdTZRcxNtI9e
https://dl.doubtnut.com/l/_W1dxTpGQSiTO
https://dl.doubtnut.com/l/_S3EufpJu0Dxw
https://dl.doubtnut.com/l/_Np8NeNw4aUXv


Watch Video Solution

4. Find the union of each of the following pairs of sets : 

A = {  is a natural number and  } 


B = {  is a natural number and  }

Watch Video Solution

x : x 1 < x ≤ 6

x : x 6 < x < 10

5. Find the union of each of the following pairs of sets : 

Watch Video Solution

A = {1, 2, 3}, B = φ

6. Let . Is  ? What is  ?

Watch Video Solution

A = {a, b}, B = {a, b, c} A ⊂ B A ∪ B

7. IF A and B are two sets such that  then, What is ?A ⊂ B A ∪ B

https://dl.doubtnut.com/l/_Np8NeNw4aUXv
https://dl.doubtnut.com/l/_FYFhexRlZKpd
https://dl.doubtnut.com/l/_RBbMIKMaY3Iz
https://dl.doubtnut.com/l/_kYEnC9s5RG5j
https://dl.doubtnut.com/l/_c8A9bz4ibJLk


Watch Video Solution

8. If

, find 

Watch Video Solution

A = {1, 2, 3, 4}, B = {3, 4, 5, 6}, C = {5, 6, 7, 8} and D = {7, 8, 9, 10}

A ∪ B

9. If

, find 

Watch Video Solution

A = {1, 2, 3, 4}, B = {3, 4, 5, 6}, C = {5, 6, 7, 8} and D = {7, 8, 9, 10}

A ∪ C

10. If

A = {1, 2, 3, 4}, B = {3, 4, 5, 6}, C = {5, 6, 7, 8} and D = {7, 8, 9, 10}

https://dl.doubtnut.com/l/_c8A9bz4ibJLk
https://dl.doubtnut.com/l/_uqlHu07wr9py
https://dl.doubtnut.com/l/_jKyqnxw7oTIL
https://dl.doubtnut.com/l/_ICbHWRsup55H


, find 

Watch Video Solution

B ∪ C

11. If

, find 

Watch Video Solution

A = {1, 2, 3, 4}, B = {3, 4, 5, 6}, C = {5, 6, 7, 8} and D = {7, 8, 9, 10}

B ∪ D

12. If

, find 

Watch Video Solution

A = {1, 2, 3, 4}, B = {3, 4, 5, 6}, C = {5, 6, 7, 8} and D = {7, 8, 9, 10}

A ∪ B ∪ C

https://dl.doubtnut.com/l/_ICbHWRsup55H
https://dl.doubtnut.com/l/_W6Mn43YhLufY
https://dl.doubtnut.com/l/_z5zNgWy69NKT
https://dl.doubtnut.com/l/_vO86YPwME7JP


13. If

, find 

Watch Video Solution

A = {1, 2, 3, 4}, B = {3, 4, 5, 6}, C = {5, 6, 7, 8} and D = {7, 8, 9, 10}

A ∪ B ∪ D

14. If

, find 

Watch Video Solution

A = {1, 2, 3, 4}, B = {3, 4, 5, 6}, C = {5, 6, 7, 8} and D = {7, 8, 9, 10}

B ∪ C ∪ D

15. Find the intersection of each pair of sets of question 1 above.

View Text Solution

https://dl.doubtnut.com/l/_vO86YPwME7JP
https://dl.doubtnut.com/l/_eIIJPd1JtE3G
https://dl.doubtnut.com/l/_DgbKjujLpgxU


16. If

, find 

Watch Video Solution

A = {3, 5, 7, 9, 11}, B = {7, 9, 11, 13}, C = {11, 13, 15} and D = {15, 17}

A ∩ B

17. If

, find 

Watch Video Solution

A = {3, 5, 7, 9, 11}, B = {7, 9, 11, 13}, C = {11, 13, 15} and D = {15, 17}

B ∩ C

18. If

, find 

A = {3, 5, 7, 9, 11}, B = {7, 9, 11, 13}, C = {11, 13, 15} and D = {15, 17}

A ∩ C ∩ D

https://dl.doubtnut.com/l/_ATA6blsCmLDL
https://dl.doubtnut.com/l/_J92aoPjmlB7g
https://dl.doubtnut.com/l/_ZGZdFrs5IiEn


Watch Video Solution

19. If

, find 

Watch Video Solution

A = {3, 5, 7, 9, 11}, B = {7, 9, 11, 13}, C = {11, 13, 15} and D = {15, 17}

A ∩ C

20. If

, find 

Watch Video Solution

A = {3, 5, 7, 9, 11}, B = {7, 9, 11, 13}, C = {11, 13, 15} and D = {15, 17}

B ∩ D

21. If

A = {3, 5, 7, 9, 11}, B = {7, 9, 11, 13}, C = {11, 13, 15} and D = {15, 17}

https://dl.doubtnut.com/l/_ZGZdFrs5IiEn
https://dl.doubtnut.com/l/_OFEO5g0Jhesc
https://dl.doubtnut.com/l/_nTYVexYWSN3I
https://dl.doubtnut.com/l/_M1wIgN7b6Poq


, find 

Watch Video Solution

A ∩ (B ∪ C)

22. If

, find 

Watch Video Solution

A = {3, 5, 7, 9, 11}, B = {7, 9, 11, 13}, C = {11, 13, 15} and D = {15, 17}

A ∩ D

23. If

, find 

Watch Video Solution

A = {3, 5, 7, 9, 11}, B = {7, 9, 11, 13}, C = {11, 13, 15} and D = {15, 17}

A ∩ (B ∪ D)

https://dl.doubtnut.com/l/_M1wIgN7b6Poq
https://dl.doubtnut.com/l/_aodh5ZuDVhtW
https://dl.doubtnut.com/l/_6o1m6OWyw1yv
https://dl.doubtnut.com/l/_o3kIXwcN2Axi


24. If

, find 

Watch Video Solution

A = {3, 5, 7, 9, 11}, B = {7, 9, 11, 13}, C = {11, 13, 15} and D = {15, 17}

(A ∩ B) ∩ (B ∪ C)

25. If

, find 

Watch Video Solution

A = {3, 5, 7, 9, 11}, B = {7, 9, 11, 13}, C = {11, 13, 15} and D = {15, 17}

(A ∪ D) ∩ (B ∪ C)

26. If A = {  is a natural number }, B = {  is an even natural number} 


C = {  is an odd natural number} and D = {  is a prime number }, find

Watch Video Solution

x : x x : x

x : x x : x

A ∩ B

https://dl.doubtnut.com/l/_o3kIXwcN2Axi
https://dl.doubtnut.com/l/_sIKqVjtP7x4Y
https://dl.doubtnut.com/l/_3yWEOO9Eiyaw


27. If A = {  is a natural number }, B = {  is an even natural number} 


C = {  is an odd natural number} and D = {  is a prime number }, find

Watch Video Solution

x : x x : x

x : x x : x

A ∩ C

28. If A = {  is a natural number }, B = {  is an even natural number} 


C = {  is an odd natural number} and D = {  is a prime number }, find

Watch Video Solution

x : x x : x

x : x x : x

A ∩ D

29. If A = {  is a natural number }, B = {  is an even natural number} 


C = {  is an odd natural number} and D = {  is a prime number }, find

Watch Video Solution

x : x x : x

x : x x : x

B ∩ C

https://dl.doubtnut.com/l/_3yWEOO9Eiyaw
https://dl.doubtnut.com/l/_SvdpTpZdmNjc
https://dl.doubtnut.com/l/_Y6k8s1b18t4J
https://dl.doubtnut.com/l/_Q0TyKALFhaBN


30. If A = {  is a natural number }, B = {  is an even natural number} 


C = {  is an odd natural number} and D = {  is a prime number }, find

Watch Video Solution

x : x x : x

x : x x : x

B ∩ D

31. If A = {  is a natural number }, B = {  is an even natural number} 


C = {  is an odd natural number} and D = {  is a prime number }, find

Watch Video Solution

x : x x : x

x : x x : x

C ∩ D

32. Which of the following pairs of sets are disjoint 

 and {  is a natural number and  }

Watch Video Solution

{1, 2, 3, 4} x : x 4 ≤ x ≤ 6

https://dl.doubtnut.com/l/_NV9i19YDejz3
https://dl.doubtnut.com/l/_IcJfUVSA7Xkq
https://dl.doubtnut.com/l/_lq6CZiB90sBo


33. Which of the following pairs of sets are disjoint 

Watch Video Solution

{a, e, i, o, u} and {c, d, e, f}

34. Which of the following pairs of sets are disjoint 

{  is an even integer } and {  is an odd integer}

Watch Video Solution

x : x x : x

35. If , 


, find 


Watch Video Solution

A = {3, 6, 9, 12, 15, 18, 21}, B = {4, 8, 12, 16, 20}

C = {2, 4, 6, 8, 10, 12, 14, 16}, D = {5, 10, 15, 20}

A– B

https://dl.doubtnut.com/l/_pNDAs4qyM99g
https://dl.doubtnut.com/l/_mM8WKFGQBMP7
https://dl.doubtnut.com/l/_RsttIHaZORN7


36. If , 


, find 


Watch Video Solution

A = {3, 6, 9, 12, 15, 18, 21}, B = {4, 8, 12, 16, 20}

C = {2, 4, 6, 8, 10, 12, 14, 16}, D = {5, 10, 15, 20}

A– C

37. If , 


, find 


Watch Video Solution

A = {3, 6, 9, 12, 15, 18, 21}, B = {4, 8, 12, 16, 20}

C = {2, 4, 6, 8, 10, 12, 14, 16}, D = {5, 10, 15, 20}

A– D

38. If , 


, find 


Watch Video Solution

A = {3, 6, 9, 12, 15, 18, 21}, B = {4, 8, 12, 16, 20}

C = {2, 4, 6, 8, 10, 12, 14, 16}, D = {5, 10, 15, 20}

B– A

https://dl.doubtnut.com/l/_jqwfiwbv6YKz
https://dl.doubtnut.com/l/_8CrmBlRNUfNQ
https://dl.doubtnut.com/l/_5v84xhaBNg1K
https://dl.doubtnut.com/l/_3AKkM0E0iWDK


39. If , 


, find 


Watch Video Solution

A = {3, 6, 9, 12, 15, 18, 21}, B = {4, 8, 12, 16, 20}

C = {2, 4, 6, 8, 10, 12, 14, 16}, D = {5, 10, 15, 20}

C– A

40. If , 


, find 


Watch Video Solution

A = {3, 6, 9, 12, 15, 18, 21}, B = {4, 8, 12, 16, 20}

C = {2, 4, 6, 8, 10, 12, 14, 16}, D = {5, 10, 15, 20}

D– A

41. If , 


, find 


Watch Video Solution

A = {3, 6, 9, 12, 15, 18, 21}, B = {4, 8, 12, 16, 20}

C = {2, 4, 6, 8, 10, 12, 14, 16}, D = {5, 10, 15, 20}

B– C

https://dl.doubtnut.com/l/_3AKkM0E0iWDK
https://dl.doubtnut.com/l/_ahOPpFwxhB0G
https://dl.doubtnut.com/l/_TW4yycj00osS


42. If , 


, find 


Watch Video Solution

A = {3, 6, 9, 12, 15, 18, 21}, B = {4, 8, 12, 16, 20}

C = {2, 4, 6, 8, 10, 12, 14, 16}, D = {5, 10, 15, 20}

B– D

43. If , 


, find 


Watch Video Solution

A = {3, 6, 9, 12, 15, 18, 21}, B = {4, 8, 12, 16, 20}

C = {2, 4, 6, 8, 10, 12, 14, 16}, D = {5, 10, 15, 20}

C– B

44. If , 


, find 


Watch Video Solution

A = {3, 6, 9, 12, 15, 18, 21}, B = {4, 8, 12, 16, 20}

C = {2, 4, 6, 8, 10, 12, 14, 16}, D = {5, 10, 15, 20}

D– B

https://dl.doubtnut.com/l/_Le5ApCMFNnaz
https://dl.doubtnut.com/l/_gXdx4oopXRfc
https://dl.doubtnut.com/l/_mLQIOsHzVBOl
https://dl.doubtnut.com/l/_wptUJtee6rk1


45. If , 


, find 


Watch Video Solution

A = {3, 6, 9, 12, 15, 18, 21}, B = {4, 8, 12, 16, 20}

C = {2, 4, 6, 8, 10, 12, 14, 16}, D = {5, 10, 15, 20}

C– D

46. If , 


, find 


Watch Video Solution

A = {3, 6, 9, 12, 15, 18, 21}, B = {4, 8, 12, 16, 20}

C = {2, 4, 6, 8, 10, 12, 14, 16}, D = {5, 10, 15, 20}

D– C

47. If , find 


Watch Video Solution

X = {a, b, c, d} and Y = {f, b, d, g}

X– Y

https://dl.doubtnut.com/l/_wptUJtee6rk1
https://dl.doubtnut.com/l/_tWvTPVTRvO7H
https://dl.doubtnut.com/l/_qentR8bOk8Tz


48. If , find 


Watch Video Solution

X = {a, b, c, d} and Y = {f, b, d, g}

Y – X

49. If , find 


Watch Video Solution

X = {a, b, c, d} and Y = {f, b, d, g}

X ∩ Y

50. If R is the set of real numbers and Q is the set of rational numbers,

then what is ?

Watch Video Solution

R– Q

51. State whether each of the following statement is true or false. Justify

your answers. 

https://dl.doubtnut.com/l/_GodPcn1MfkCj
https://dl.doubtnut.com/l/_6NXhi0SZXbRD
https://dl.doubtnut.com/l/_3Raxg287qv7x
https://dl.doubtnut.com/l/_6cpuQGQoNPov


{2,3,4,5} and {3,6} and disjoint sets.

Watch Video Solution

52. State whether each of the following statement is true or false. Justify

your answers. 

{a,e,I,o,u} and {a,b,c,d} are disjoint sets.

Watch Video Solution

53. State whether each of the following statement is true or false. Justify

your answers. 

{2,6,10,14} and {3,7,11,15} are disjoint sets.

Watch Video Solution

54. State whether each of the following statement is true or false. Justify

your answers. 

https://dl.doubtnut.com/l/_6cpuQGQoNPov
https://dl.doubtnut.com/l/_F6a8yxj86XM3
https://dl.doubtnut.com/l/_kxKNZRfEfbp9
https://dl.doubtnut.com/l/_h9FAYzQNTWOR


Exercise 1 5

{2,6,10} and {3,7,11} are disjoint sets.

Watch Video Solution

1. Let

. 

Find 

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9}, A = {1, 2, 3, 4}, B = {2, 4, 6, 8} and C = {3,

A'

2. Let

. 

Find 

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9}, A = {1, 2, 3, 4}, B = {2, 4, 6, 8} and C = {3,

B'

https://dl.doubtnut.com/l/_h9FAYzQNTWOR
https://dl.doubtnut.com/l/_6fSYoALAYm8H
https://dl.doubtnut.com/l/_6tWbsGnjnO5M


3. Let

. 

Find 

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9}, A = {1, 2, 3, 4}, B = {2, 4, 6, 8} and C = {3,

(A ∪ C)'

4. Let

. 

Find 

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9}, A = {1, 2, 3, 4}, B = {2, 4, 6, 8} and C = {3,

(A ∪ B)'

5. Let

U = {1, 2, 3, 4, 5, 6, 7, 8, 9}, A = {1, 2, 3, 4}, B = {2, 4, 6, 8} and C = {3,

https://dl.doubtnut.com/l/_6tWbsGnjnO5M
https://dl.doubtnut.com/l/_GZe2zTZOVh3E
https://dl.doubtnut.com/l/_h5asf5wauAuX
https://dl.doubtnut.com/l/_OnRS0u5U3rBO


. 

Find 

Watch Video Solution

(A' )'

6. Let

. 

Find 

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9}, A = {1, 2, 3, 4}, B = {2, 4, 6, 8} and C = {3,

(B– C)'

7. If , find the complements of the following

sets : 

Watch Video Solution

U = {a, b, c, d, e, f, g, h}

A = {a, b, c}

https://dl.doubtnut.com/l/_OnRS0u5U3rBO
https://dl.doubtnut.com/l/_obiTEEgQDIjo
https://dl.doubtnut.com/l/_7FcL4TbQQ7Pa


8. If , find the complements of the following

sets : 

Watch Video Solution

U = {a, b, c, d, e, f, g, h}

B = {d, e, f, g}

9. If , find the complements of the following

sets : 

Watch Video Solution

U = {a, b, c, d, e, f, g, h}

C = {a, c, e, g}

10. If , find the complements of the following

sets : 

Watch Video Solution

U = {a, b, c, d, e, f, g, h}

D = {f, g, h, a}

https://dl.doubtnut.com/l/_xtZjuAc4h7Eg
https://dl.doubtnut.com/l/_dcqCReId1kc6
https://dl.doubtnut.com/l/_I7XxR6dpaSSz
https://dl.doubtnut.com/l/_Hqom6ZGm0i9q


11. Taking the set of natural numbers as the universal set, write down the

complements of the following sets: 

{  is an even natural number}

Watch Video Solution

x : x

12. Taking the set of natural numbers as the universal set, write down the

complements of the following sets: 

{  is an odd natural number }

View Text Solution

x : x

13. Taking the set of natural numbers as the universal set, write down the

complements of the following sets: 

{  is a positive multiple of 3}

Watch Video Solution

x : x

https://dl.doubtnut.com/l/_Hqom6ZGm0i9q
https://dl.doubtnut.com/l/_PAxE8Mv1VATy
https://dl.doubtnut.com/l/_OPPlKbaZaBid


14. Taking the set of natural numbers as the universal set, write down the

complements of the following sets: 

{  is a prime number }

Watch Video Solution

x : x

15. Taking the set of natural numbers as the universal set, write down the

complements of the following sets: 

{  is a natural number divisible by 3 and 5}

View Text Solution

x : x

16. Taking the set of natural numbers as the universal set, write down the

complements of the following sets: 

{  is a perfect square }

Watch Video Solution

x : x

https://dl.doubtnut.com/l/_LYN35iFvzmy3
https://dl.doubtnut.com/l/_sM1K0Cm55tmF
https://dl.doubtnut.com/l/_zSa1DaRbC5Kw
https://dl.doubtnut.com/l/_9VGxdEmopZrt


17. Taking the set of natural numbers as the universal set, write down the

complements of the following sets: 

{  is a perfect cube}

Watch Video Solution

x : x

18. Taking the set of natural numbers as the universal set, write down the

complements of the following sets: 

View Text Solution

{x : x + 5 = 8}

19. Taking the set of natural numbers as the universal set, write down the

complements of the following sets: 

View Text Solution

{x : 2x + 5 = 9}

https://dl.doubtnut.com/l/_9VGxdEmopZrt
https://dl.doubtnut.com/l/_qwXfWDOZ3gDU
https://dl.doubtnut.com/l/_PvZzoojPo7M7


20. Taking the set of natural numbers as the universal set, write down the

complements of the following sets: 

Watch Video Solution

{x : x ≥ 7}

21. Taking the set of natural numbers as the universal set, write down the

complements of the following sets: 

Watch Video Solution

{x : x ∈ N and 2x + 1 > 10}

22. If .

Verify that 

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9}, A = {2, 4, 6, 8} and B = {2, 3, 5, 7}

(A ∪ B)' = A' ∩ B'

https://dl.doubtnut.com/l/_uP9Ruu7YsaOF
https://dl.doubtnut.com/l/_uVFvMz4AW8kM
https://dl.doubtnut.com/l/_xxET763gCUmw
https://dl.doubtnut.com/l/_mHfcBKuVZVUt


23. If .

Verify that 

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9}, A = {2, 4, 6, 8} and B = {2, 3, 5, 7}

(A ∩ B)' = A' ∪ B'

24. Let U be the set of all triangles in a plane. If A is the set of all triangles

with at least one angle different from 60°, what is A′?

Watch Video Solution

25. Fill in the blanks to make each of the following a true statement : 

View Text Solution

A ∪ A' = . . .

26. Fill in the blanks to make each of the following a true statement : 

φ' ∩ A = . . .

https://dl.doubtnut.com/l/_mHfcBKuVZVUt
https://dl.doubtnut.com/l/_EkX8hEANs7Th
https://dl.doubtnut.com/l/_GuuuxQuLXvnm
https://dl.doubtnut.com/l/_Tw76NCfvb5e3


Exercise 1 6

View Text Solution

27. Fill in the blanks to make each of the following a true statement : 

Watch Video Solution

A ∩ A' = . . .

28. Fill in the blanks to make each of the following a true statement : 

View Text Solution

U' ∩ A = . . .

1. If X and Y are two sets such that

, find .

Watch Video Solution

n(X) = 17, n(Y ) = 23 and n(X ∪ Y ) = 38 n(X ∩ Y )

https://dl.doubtnut.com/l/_Tw76NCfvb5e3
https://dl.doubtnut.com/l/_Y50N3kbr1mUm
https://dl.doubtnut.com/l/_wHplBi8B2mqk
https://dl.doubtnut.com/l/_Q5ao0GrhffYh


2. If X and Y are two sets such that  has 18 elements, X has 8

elements and Y has 15 elements , how many elements does  have?

Watch Video Solution

X ∪ Y

X ∩ Y

3. In a group of 400 people, 250 can speak Hindi and 200 can speak

English. How many people can speak both Hindi and English?

Watch Video Solution

4. If S and T are two sets such that S has 21 elements, T has 32 elements,

and  has 11 elements, how many elements does  have?

Watch Video Solution

S ∩ T S ∪ T

5. If X and Y are two sets such that X has 40 elements,  has 60

elements and  has 10 elements, how many elements does Y have?

X ∪ Y

X ∩ Y

https://dl.doubtnut.com/l/_Q5ao0GrhffYh
https://dl.doubtnut.com/l/_inW4Bb4WK1zD
https://dl.doubtnut.com/l/_JfSrwwbe0G27
https://dl.doubtnut.com/l/_VG5ayGoBf75O
https://dl.doubtnut.com/l/_BuOKBCkyG4zl


Watch Video Solution

6. In a group of 70 people, 37 like coffee, 52 like tea and each person likes

at least one of the two drinks. How many people like both coffee and tea?

Watch Video Solution

7. In a group of 65 people, 40 like cricket, 10 like both cricket and tennis.

How many like tennis only and not cricket? How many like tennis?

Watch Video Solution

8. In a committee, 50 people speak French, 20 speak Spanish and 10 speak

both Spanish and French. How many speak at least one of these two

languages?

Watch Video Solution

https://dl.doubtnut.com/l/_BuOKBCkyG4zl
https://dl.doubtnut.com/l/_YhfFRXmaIyk7
https://dl.doubtnut.com/l/_hXhAAWXNL5Zd
https://dl.doubtnut.com/l/_zEvkgQCEuzSd


Miscellaneous Exercise On Chapter 1

1. Decide, among the following sets, which sets are subsets of one and

another: 

A = {  satisfy  }, 


.

Watch Video Solution

x : x ∈ R and x x2– 8x + 12 = 0

B = {2, 4, 6}, C = {2, 4, 6, 8, . . . }, D = {6}

2. In each of the following, determine whether the statement is true or

false. If it is true, prove it. If it is false, give an example. 

If  , then 

Watch Video Solution

x ∈ A and A ∈ B x ∈ B

3. In each of the following, determine whether the statement is true or

false. If it is true, prove it. If it is false, give an example. 

If  , then A ⊂ B and B ∈ C A ∈ C

https://dl.doubtnut.com/l/_9vfLarDS5w5g
https://dl.doubtnut.com/l/_kqeigdiotrNP
https://dl.doubtnut.com/l/_6rIKymGdn1B1


Watch Video Solution

4. In each of the following, determine whether the statement is true or

false. If it is true, prove it. If it is false, give an example. 

If  , then 

Watch Video Solution

A ⊂ B and B ⊂ C A ⊂ C

5. In each of the following, determine whether the statement is true or

false. If it is true, prove it. If it is false, give an example. 

If  , then 

Watch Video Solution

A ⊄ B and B ⊄ C A ⊄ C

6. In each of the following, determine whether the statement is true or

false. If it is true, prove it. If it is false, give an example. 

If  , then 

W t h Vid S l ti

x ∈ A and A ⊄ B x ∈ B

https://dl.doubtnut.com/l/_6rIKymGdn1B1
https://dl.doubtnut.com/l/_JyYiMSkoMK0r
https://dl.doubtnut.com/l/_QOyOpdoZLKtq
https://dl.doubtnut.com/l/_fQRfBYRJOe3S


Watch Video Solution

7. In each of the following, determine whether the statement is true or

false. If it is true, prove it. If it is false, give an example. 

If  , then 

Watch Video Solution

A ⊂ B and x ∉ B x ∉ A

8. Let  be the sets such that 

. Show that .

Watch Video Solution

A, B, and C

A ∪ B = A ∪ C and A ∩ B = A ∩ C B = C

9. Show that if , then .

Watch Video Solution

A ⊂ B C– B ⊂ C– A

10. Assume that . Show that P (A) = P (B) A = B

https://dl.doubtnut.com/l/_fQRfBYRJOe3S
https://dl.doubtnut.com/l/_BwY9C1Abohni
https://dl.doubtnut.com/l/_aDjt8oGYYGBc
https://dl.doubtnut.com/l/_tWZPUYshQRn6
https://dl.doubtnut.com/l/_jliUKoP0Lj0I


Watch Video Solution

11. Is it true that for any sets ?

Justify your answer.

Watch Video Solution

A and B, P (A) ∪ P (B) = P (A ∪ B)

12. Show that for any sets A and B, 

Watch Video Solution

A = (A ∩ B) ∪ (A– B) and A ∪ (B– A) = (A ∪ B)

13. Using properties of sets, show that 

Watch Video Solution

A ∪ (A ∩ B) = A

https://dl.doubtnut.com/l/_jliUKoP0Lj0I
https://dl.doubtnut.com/l/_c7fQCh17TtbT
https://dl.doubtnut.com/l/_7KPmlpyYbrgd
https://dl.doubtnut.com/l/_qxm7mVO7xQZb


14. Using properties of sets, show that 

.

Watch Video Solution

A ∩ (A ∪ B) = A

15. Show that  need not imply .

Watch Video Solution

A ∩ B = A ∩ C B = C

16. Let A and B be sets. If 

for some set X, show that .

Watch Video Solution

A ∩ X = B ∩ X = φ and A ∪ X = B ∪ X

A = B

17. Find sets A, B and C such that  are non-

empty sets and .

Watch Video Solution

A ∩ B, B ∩ C and A ∩ C

A ∩ B ∩ C = φ

https://dl.doubtnut.com/l/_dy9EkAtfBIgG
https://dl.doubtnut.com/l/_qeRfBG3FFUcl
https://dl.doubtnut.com/l/_523eaE7BJWzN
https://dl.doubtnut.com/l/_GSMeNzPxsJit


18. In a survey of 600 students in a school, 150 students were found to be

taking tea and 225 taking coffee, 100 were taking both tea and coffee.

Find how many students were taking neither tea nor coffee?

Watch Video Solution

19. In a group of students, 100 students know Hindi, 50 know English and

25 know both. Each of the students knows either Hindi or English. How

many students are there in the group?

Watch Video Solution

20. In a survey of 60 people, it was found that 25 people read newspaper

H, 26 read newspaper T, 26 read newspaper I, 9 read both H and I, 11 read

both H and T, 8 read both T and I, 3 read all three newspapers. Find: 

the number of people who read at least one of the newspapers.

Watch Video Solution

https://dl.doubtnut.com/l/_GSMeNzPxsJit
https://dl.doubtnut.com/l/_J3B0jjHGVvUQ
https://dl.doubtnut.com/l/_A6bJpa0h25nS
https://dl.doubtnut.com/l/_2wnGu4aVpr4x


21. In a survey of 60 people, it was found that 25 people read newspaper

H, 26 read newspaper T, 26 read newspaper I, 9 read both H and I, 11 read

both H and T, 8 read both T and I, 3 read all three newspapers. Find: 

the number of people who read exactly one newspaper.

Watch Video Solution

22. In a survey it was found that 21 people liked product A, 26 liked

product B and 29 liked product C. If 14 people liked products A and B, 12

people liked products C and A, 14 people liked products B and C and 8

liked all the three products. Find how many liked product C only.

Watch Video Solution

https://dl.doubtnut.com/l/_2wnGu4aVpr4x
https://dl.doubtnut.com/l/_rpmHtWQv8LzQ
https://dl.doubtnut.com/l/_cK2xZk5nGAEK

